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(ii) ﬁn:.o a dialogue between two friends
discussing a recently released film.- One of
them liked the film while the other didn’t.

& | | 68

(e) Horizontal Communication

(f) Public Zone

(g) Two Types of Channel Noise - (5%x2=10) . :
. { (b) ‘(9 The municipality elections are going to happen
Answer any two of the following : i soon. You have to interview the MLA of your

. : area asking bim/her questions about the
(a) What is noise? Give three reasons for semantic work they have done in their term as the
“MLA and their plans for the upcoming

elections. The interview would be published

noise and explain with examples.

(b) What is Mass Communication? Elaborate upon . ;
: 2 in a local daily.
some of jts advantages.

: ; Or
(c) Define intra-personal and extra-personal

- communication. Offer suitable examples. (i) A student from your college has recently been

\ ) selected for India’s International Cricket

. (d) How does Body Language contribute towards ' _ : :
_ team. You.have to conduct an interview

with the student for the college magazine.

(10)

effective communication? Give at least two
. examples. (2x5=10)

(c) Prepare a public speech (in about 100-150 words)
on any one of the following :

Please read the questions carefully before answering
and keep to the point. \

i 4 ¢

(a) () You wish to become a member of the library (i) Reality shows in today’s Television Industry

in your locality. Write a dialogue between Or

the librarian and yourself as he/she explains . : ek - ) :
_ (ii) Significance of Cultural Societies in the life
the procedure for enrolment.

_ of a college student 5)

Or
P.T.O.
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4. (a) Read the following passage and answer the

“down to stiff competition and manipulating news.

4 ; 6972

questions that follow :

Social media networks have m.&nom a huge
precedence over conventional forms of media and -
news networks. People turn to Social Networking
sites like Facebook or Twitter to .Ex_ma Hroﬁmm?o.m
on contemporary issues. While television channels
and news networks are trying their best to keep
their audience well-informed, they have also:
started resorting to yellow journalism by adopting
anw_uma.:om of sensationalising factual news. Twenty.
hour news channels are ‘creating” news rather
than reporting what is happening in order to
compete with new forms of media liké social
networks. While print media remains more reliable
and less sensational, it is also consistently bowing

Such a trend might seem more democratic and
liberating on the surface but it is an nxﬁoE&%
dangerous trend in the long run. It enables anyone
and everyone to ‘produce” news and sell ‘stories’
in ‘the name of facts. Media responsibility
and accountability is shrinking as people get a’
free hand in spreading whatever they find
‘newsworthy’. It is not only the Rmﬁmnm_d:ww of

the reporters and journalists but the common citizen

5

as well to verify any news report they read or see
before spreading it. Social networking sites can

-be used to a general advantage only if people

become aware of their real purpose. Instead of
believing everything that one sees on a social
networking platform, one should try and look for
the sources behind news, verify its M_EEQ:EQ as
and when possible and then invest one’s faith in
it. : i

E ﬁ::n__ Em:.oz:m do people prefer for

following contemporary issues? (2) :

(ii) How are television channels and news
networks trying to compete with social

(3

media networks?

(iii) What is the role of the common citizen.in
times of such free media? (3)

(iv) Choose mwwoawawwon the following words
from the options given below: | :

{a) Reliable

(b) Liberating

{c) Accountability
(d) Authenticity

‘Answerability, Dependable, Validity,
Emancipating _ 2)
P.T.O.
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.A_u,v Attempt any one of the following :

(i) Write a summary of the following passage

in about 50 words :

Due to the uneven development of regions .

and the desire for a modern liféstyle,
nuclear families have almost become a
necessity. Most young people leave their
hometowns at m»ﬂ% stages of adulthood for

- either quality education or career
_prospects. Once they get settled in an urban
- or more developed region, it becomes

Eﬁammw.._m_w impossible to return to their

"hometowns. Even mw some try to find
suitable job: opportunities in their native

towns or cities, the effort is generally
frustrated and they return to the bigger

_cities or metropolis. Such a situation has
- generated a crisis for not only the youth

who have to start their lives afresh in a
new place but also for the older generation
that chooses to stay back in its hometown.
While the young struggle to create a
comfortable home, the older people suffer

from loneliness and lack of a support

7

system in case of failing health. Despite
fat paycheques and a seemingly luxurious
lifestyle, today’s families are mostly

. dysfunctional. It is _.E._uonwa to demand an

all-round development of all regions so that
people settle in urban centres or
metropolises out of choicé and not out of

~ compulsion.

(if)

Or

What is Translation? Explain go_

different types of translation with suitable
examples. (5)

(i) Write a letter to your internet service

providers explaining the need to get your
connection activated at your new address.

Or

(ii) Write a letter to the Human Resource

Manager of your company informing him/her
of cases of sexual harassment that are moﬁw
unreported in the absénce of an internal
complaints committee, and the urgent need to
address this  issue. (10)

P.T.O.
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Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper. :

3 YYA-UF FH IW AU oA ot fhet ww

H dfvg; Afes aft S5 &1 wew T &

e |

feoqutt -

Attempt all questions.

All questions carry equal marks.
Tt vl & IW e
it g B s wEE T
1. What is ‘youth’ ? Describe Erikson’s views on identity

development. 7+8

‘g’ W oy W % 7 UgeM faeE W OuReRH
& faari &1 TvA wifeg




Or/RAAT

Discuss the National Youth Policy. What is the role of family

and peers in young people’s socialization ? H6

T a1 Aifd W F9t IS a1 Al & GHrSHERT]
H ufer iR wifgd & yfaw w®m ¥ 2

Explain the %.8::5»56 of interpersonal attraction. 15

JRiies YT & fHulenl w1 samem sifsw)

Or/AGdT

How has the Indian youth been impacted by cultural changes

and challenges in the face of globalization ?

It @ W Wi TRedd iR ke @

IRdm ga1 #9 yuifaq gw & 2
What is substance abuse ? Explain the effect of alcohol abuse

and dependence. 5+10
UEH T H GO F T 7 WA B TEREN AR
fikar & wwa & e Hifewl

Or/3qar

What are the health refated concerns of youth ? Explain the
morbidities associated with youth. 5+10
sl #1 wWre gad foad @ ¥ 2 gl A
IS T H e S

What is Snyder’s theory of hope ? Discuss some factors that
contribute to the development of hope. 10+5
e w1 AN F G | ¥ ? H/D IR W
= ®ifSg S oemn @ fawm d AR w@ €

Or/Agqdr

What is resilience ? Describe resources that can create

resilience in young people. 69
TETT e 2 S G w oavi wifeg S
a1 @il § ol S gd ¥

P.TO.
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Write short notes on any swo of tiie following :

) Positive youth‘development

(i) Concems of the Indian Youth

(iii) Sternberg’s triangular model of love

() Impact of loneliness.

Freaffer § ¥ Fredl QY T Wl feoorl fofa
() FEAER gar fawm

@) gRA Eéﬂa?f &t ﬁﬂTi

i)y €AW & WrR & Gty afed

() FAPAGT & YWE |
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: Define “Physical Activiy’ ‘Discins abont, different bypes of

Birysical activiies that an iodividual can engage in
_%dﬂwﬂhmw%%_ﬂﬁwﬂ%
A = i faed R S
¥

s Explain the different compenants of Physial Fimess. Discuss

methods to develop health and skill related components af

Physical Fitness

ﬂ&mﬂn&aﬂwﬁ?ﬂi%_ﬁnﬂﬂf%
zom W ERA o s g owem B s
%Eﬂsﬂ%%&&%i

X What do vou mean by sWellness'? Deseribe its various

cHmpOnents:

g § A = e £2 ww fAhE T
7 =UA i

‘Behavioural Modifications are the key 1o Weight Manzgement’.
Eaplain.

il o o S
Caieud

M= 3008

Define: “Nutdtion’: Expgin jn dotail various nutrients.
forgE® T | .

. Differentiate between Bating Disorders and Deficiency Disorders

along with suitable axamples.
vy TaeT ToERR T ST Sy # B =E
feg W T SRI

. Define 'Ohesity’s Explain different Obesity related fealth

problems.

.a%_&%sﬁ%_gi@x%a%

Pouitive Lifestyle ia significant for the promotion of wellness
of i Indjvidual’, Comment.

TR i R Gl w7 deten
w0 § wee ¥ feowd A

- Write 'short notes on any twe of the fallewing *

(4)  Circuit Training

() Body lmage

(¢) Energy Bafance Edquation
(dy Coronary Heart Disense.

BT
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Attempt three questions each from Parts A and B.
L
& Part A
Attempt any three of the following : 3x10=30

1.. (@) Whatis gender ? What is theA impact of there being only

two normative genders ?

P.T.O.
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1 Or

: () “Sex” and “gender” are concepts that work in
1 . . ~ interconnected ways. Examine with examples.

2 (@) Motherhood is a socially preséribed role for women.

Examine the consequences of this social prescription.
or

(b) - Patriarchal conditioning impacts men. Do you agree ? Give

a reasoned answer. . . .

"3. (@) Define the term sexual harassment. Why is the prevention

of sexual harassment important ?

o
®) Examine how the struggle against caste oppression

intersects with the struggle against patriarchal oppression.

Part B
Attempt any three of the following : " 3x15=45

or izzat. Discuss with suitable examples.

4, Partition narratives show how women’s. bodies become sites of

violence because they are regarded as sites of community honour .

8420

( 3 ) 8420

Sultana’s Dream visualizes equality for women as merely a reverse
of patriarchal oppression of women. Do you agree ? Examine with

close reference to the story.

Examine the legal provisions in place in India to tackle sex

selection. Assess their success and limitations.

Can a Uniform Civil Code provide gender-justice in India ? Give

.

a reasoned answer.

Dowry, domestic violence and sexual harassment are three
significant issues pertaining to women that have been in public
discussion in the post-independence period. Examine the debates

around these campaigns that feminists have led.

Representations of women in mass media tend to have a strong
patriarchal bias. Do you agree ? Examine any three mass media
narrative texts (films/television serials/advertisements/songs/

programs) to support your answer.

Women are the first to suffer due to ecological degradation.

Examine this statement in relation to environmental issues in India.
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1. Answer any two ef the following : 3x2

e d s sot = ¢

(1) "All propositions are sentences. but all
sentenices are not propositions.” Discuss.
ot syl AT 8 T a1 e i
=1 & 1 s i )

(iil Distinguish between Argument and
Explanation.
gfes d sqreal 7 S0 |

(iii) Explain the relation between Truth and
Validity. )
AT e ey I e & a9y @ Sy w1 |

2. Answer any two of the following : 3x2

R Fa BRI gl ot s -

[i) What are the basic functions of languages ?
Which language use is the logican's chief
concern ¢ Discuss:

- 7T 3 o S A © 2 TR S HeE e
B w7eT § & 2 fag= i |

2

8465

(i} How do you differentiate between
disagreement in beliefl and disagreement in
attitude ? Discuss,

19 HI=GT sy o weE § swematy §
3T SR ST apeer & 2 Rl oy |

(i11) What do you understand by the distribution
of a term ? Explain with examples.

e o BT £ AT = T ¥ P e syrey
|

3. (i) What do you understand by opposition of
propositions ? Explain with reference to

the Traditional Square of Opposition. 4
AehaTeRe 4 T ey wEE o P qreafts
f-fardier & gl & s SR |
OR :
aterEr -

What do you understand by 'Existential
Import’ ? Discuss its impact on the
Traditional Square of Opposition.
- 9T s o 9 REee e |

3 P.T.O.
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(i) Reduce any four of the following into their

4, (i

standard forms : 4
AT 5§ Bt 91X 6 395 ames S g
EE [
{a) Incense are fragrant,
STTEEl G- 2 2
(b) Only pacifists are socialists,
e qrifafig &1 e §
[¢) Few roses are white.
R Bl T TS
(d) Notany politicians are honest,
Fig it TorteT EamET Fe B
el Asyou sow, so shall'you reap.
ST AT, IET e |
De the following as directed :

T = PRI 3w e

[a) -All singers are artists. (Conversion) 1

il & L

TH TS BB = | [ 9TEdT |

4

(if)

1)

&§465

(b) Some students are leaders ( Obversian |
1
75 Rl war # | ( afvad)

(c) No mathematicians are logicians.

( Contraposition | 2

o ey AT ST B | | e )
I "All philosophers are scientists" is true,
then determine the truth or falsity of the
[ollawing propositions ; 2x2
S THT TR et € oo B, a1 Pl
=TT = e Fuifr @i -

la] Seme non-scientists are not non-
philosophers.

HE a-HEnfen a7-aeti a8 ¥ )
(b No non-secientists are philosophers.

i oy Bretifay ety A E |
Test the validity/invalidity of the fallewing
using syllogistic rules {any one) : 3
Frreaffiar = Femr/s@amm = airen T B
et o ST S ()
(@) EAO-II
(b) EIO-IV

5 PT.O.
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(i11) Reduce the following syllogism into standard
form and test its validity/invalidity using
syllogistic rules |any one) : 5
e =Tagfen f A ST 7 e aur
ST & W/ AL =T IS HrEag e &
Pt = s i (W8 9) ¢
(a) Some journalists are aptimists, for all

journalists are intelligent and some

intelligent persons are optimists.

W SEHHT e ¥, it ol gy

e & 577 5o ghas sty enEme ¥ |
(b) Only scldicrs are idealists, since all

idealists arc writers and some writers

are soldiers.
Fore Afers crstare: ¥, =i wit enmatard
S & o 3 A SRS
(iii) Test the validity/invalidity of the following
by Venn diagram (any one| : 3
21 i (TS Oe) -
(a) AEE-II
(b) OAO-III

h

8465

(iv] Reduce the following syllogism into standard

form and test its validity /invalidity by Venn

diagram (any one): 5
PRy =T =6 HIFieh i ST e
T R Sy A g alEr 37 SAHT
BT S (1S )

(&) All scholars are activists and no activists
are politicians, implies that no scholars
are politicians.

LR N A T o 1 e R e e T e E A R e 1
it ¥, aronfee o B @ s Ber e
61 |

(b) Some dogs are ferocious animals, singe
some dangerous creatures are dogs, and
all ferocious animals are dangerous
crealures;

G e GEIT 99 ¥, Hi HE e 0y
T &, TRl AT I 9y T g E |

6. (i) Answer any one of the following - 3

Freriafias ® & el o = oy A

|a) Write a short note on Truth-function
h e s B A e B e

(b) Write a'shert note on Stroke-function

7 B.T.0.




[¢) Define the following inta Stroke function
=it 6 F=ih Tae o T 55
p+qg)= (pva

(i} Symbalise the following using the suggested

notation (any four) : 4

mrirRl o el (=€ )

{a) She 1s hardworking but not ambitious.
(H, A}
TE HB] B S e a6 % (5 A)

(b) Parashu can drive a car anly if it is not
dark. (P, D)
Y W T 6 HEAT & A Sadn T8 8
(P. D]

(€] Rakesh and Afzhal both will not go to
the stadium. (R, A)
BT ST AT A B ST 8] S |
(R. A}

{d) Aadhar card is the negessary condition
to open & bank account, (A, B}

21 (A, B

8

. i

3460

(e) The minister will speak if and only if
the oppesition would allow her to spealc
(M, Q)

I Htai eBl SR & A (M, O)

(f) It is not the case that you attend classes
regularly and you are not marked
present, (A, P)

G0 s D i B O M e G e a2
T8 e SR Fuiten e R
(A, P

Use truth tables to determine the validity/

invalidity of the following arguments [any

one) ; 4

e i @ femr/ Saaa # qee

Rty & s 9 R shifoe (oRTe es )

(a) p=(gq=r)

q=(p>r)
S pv=g)or

(ba) =9
o=

e

g BTN
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({il] Use truth tables to determine whether the 8. (i) Explain with examples and illusirate any
following sfatement forms are tautclogous, FEA RO WEK A S Eum.nﬁmm 5x2
contingent or self-contradictory (any one) ; - o

S _ : e s T o & Fee @ o

Rrefarer arsn 3 & sSe—ar ey s o =l () Petitio Principii

& (@i uw ) Sk
(@ [(p=a)=r|=[(aop)=7] (b) Appealto Hmﬂﬁnwwnma authority
ST Y SETRE T 215
®) ? 25 L:_ U_.E L vu..._.\_ (¢)  Argument from ignorance
(iti) Use shorter truth table method 1o determine Sl s et
the validity/invaliditv of the following (i) Identify and explain with examples any two
argument (any one} 4 of the informal fallacies from the following
ki (o feors e e = e o R (5 - g O 3:5%2
w5y & s & Ay o @R s ) - 0 G M 2 i M B =t e A e s Ll 2

@l p=(qv-r)

G371 (a} Knowledge is power. Power tends 1o

corrupt, Therefore krowledge tends to
By (svg)or gorTupl.
(p-r)= 1/ sy = AT AT S (A = e T
T | T S W S T L
10 11 PO
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(b) ['have seen the trailer of the movic and
the trailer is amazing. Thus, 1 am sire
the movie is going to be a terrific one as
well.

51 et ST, 6 Z S & AT ge o
B (ot 59 39 B B T wealum o so
BT STETT B

(¢) Do yoiu still lie to your friends to scek
their favour ?

T g 9 S ge Ao 8 e E |
HETH) F % e 2

12 Q00



-

- Tl;iis"qﬁeétion paper contains 3 printed pages] .

 UniquePaperCode  : 12305901 o IC

Semester ©~ - Ml -

o B e |10 (0) e

Roll No.

8. No. of Question Paper : 8481

Name of the Paper - : IndianSociety : Images and Realities
Name of the Course : B.A. (Hons.) G.E. for (Hons.) :

- Sociology—CBCS

Duration ;: 3 Hours ~Maximum Marks : 75
{Write your Roll No. on the top immediotely on receipt of this qﬁesfion paper.) ‘

(%8 W-v% 3 fred @ e Ry Ty P R R Awn srpes fafeg 1) |

Nét¥ — Aniswers may be written either .in ‘English or in Hindi;
but the same medium should be used tiroughout the
paper. ‘ ; _ 3 4

froquft :—30 w-w w1 IW S A fed feelt o
g @feT et SRl w1 oW T @ A

. Answer any four questions.

Al questipns carry equal marks. X

PTO.




g ”“.“m.“,msdmgcmnn BCEL 7oL eritd W

i o o A o s |
guﬂn@ﬂﬂﬂﬁﬂﬁw”ﬁﬂ%m.

. 20) S . o ( 3 . 8481
T - . qfﬂ.wf — . .
How can caste be studied as a model of exchange and 6. What is. the ethnicisation process and how it complicates: the

:_o_.mwnrw. ? Discuss with nxm_.:u_ﬁ. .

,éa_ﬁ.sﬁﬂawﬂ%g.&&ﬂm%
...ﬁnm@muﬂzwﬁﬁgww%
- Ef e W . -

2 Discuss the role of caste and class in the Rw_.oﬁ_:.omoa of
" . patriarchy. S
;ga&ﬁ%mﬂfﬁi%%ﬂﬁ_A*
u‘ ﬂ..;_mn do you understand _.vu. the concept of Rﬁ&n ? <5§ \,.\_ _
“ 38 are the conditions under EE_o__ regionalism mmmo ?° =

«%fﬁﬂe_%ﬁiﬁﬂﬁﬂww RN e

mu the idea of 5 distinctive Fn_pu roﬁaro_n EnEa .w "

magaﬁﬁﬂﬂm%%iuﬁﬂ

IR

What do you understand by vcﬁ:_ﬁ Hinduism ? How. can

it be studied ? Explain.

L

- ideology of wonag ? Discuss.
,ﬁiﬂuﬁaﬂwmﬁ%ﬁﬁgm
.%ﬁ@muﬂﬂ.@ﬂwﬂﬂ@wwﬂgg_

What are the mechanisms that integrate various levels of
Indian civilization ? Explain.
gﬁ.&a ﬁﬁa 3 Emﬂ ﬁ& ﬂ THiHd F A

@qﬂg&&iwwﬁm%n_
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5, Distinguish between call option and put option contract. Explain
with examples as to how an investor should use them to minimize
the risk and maximize returns.

Hia faeer T 7T Rfeed sgesg § srade &)

e aueRe 6 fase Sifgr &t fran @ T

TG Y AfrRAH HE B T T w4 HH HE 15
Or(m)

(a) Explain currency derivatives.

T g AT wHEEw 6

(b) Write notes on any three from the following :
(i) CRISIL

@) MCX

(i) NSE

(iv) P/E Ratio

(v) PEG Ratio

(vi) Price Revenue Ratio.

e d @ R e T Rt fafe -
(i) CRISIL

@) MCX

(i) NSE

(iv) P/E 31ITq

(v) PEG U@ »

(i) T T I | 9
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299
If X and Y are 5&%3%& events »:n mcc ..3

mﬁo 20, zﬁ: find E(XY),

Can, for some random variable X, P(uy - 20, <X <

o tx. +.Nﬁx_.v =0.9545 2

(e

N

*)

?

0

If zxs 3 9 + (0.1)¢)1%, ther %s_._ mc&

:.mocl me& 4 and M) = sy o 52833_

Fm values: of o, B and ¥,
x. and Y are m:awvmaaan.ﬂ normal variates with means
-1, 2 and variances 25 and 36 Rmunoﬂ:aa. Compute
- B %3
I mﬁa.u u .u_a.,.a\ix... u...ﬂw and using mwn_%o_.aq.w
- inequality we get E()X — w<kol) > |- q, Ema.oaﬁ:
the value of a. .
If 0% =25,0% =36 and Cov(X, Y) = 10, then obtain
Var X - 3Y),
.mﬁo Uﬁ:om.ﬁn Laplace central limit ,Enoaa._

C(LLLLI22222)

o i

LoXE s

)

@

Section 1
A box contains 20 fuses, in which me%a are defective. If
9_.8 of the m_mmm are w&cosn_ at random and are 3504&
from the vcx in mcnommm_oa, then -what is the Eoga__.Q
that all are defective 2 Bk
A coin is tossed three times and n_...o eight possible
outcomes are assumed 8. be equally likely. If A be the
o.e.m:ﬁ:m“ a head oooE.m on am.nr of the maﬁ. two tosses, .
B is the a<.oa_ that a tail occurs-on the Ema. toss _m.a.
C is the event that exactly two tails in n._o three tosses,

then show that :

()/° A and B are independent- events.

() B and C are dependent events. ‘. ,m,w
Two socks are selected at random and are ._,n..aot& in
mcon@.nmmoz from a drawer containing five _u_.os.: mba_a and
w_.z..o green socks. If wmsaoB variable W represents a_n.
number om.. brown ..mon_a. selected, then find u_dv.mcmzq

distribution of W and E(W).

PTO.
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Find the cumulative distribution ?:Qmosﬁoa.o of random
“variable X whose probability density function(pdf) is
given by :

X, 0<x<l
J(xX)=4{2-x, I£x<2

0, otherwise

Also sketch the graph of pdf and cdf. 66

-+

Three random varigbles X, Y and Z have variances

ok =10} =50}=2 and Cov(X, Y) = -2,

Cov(Y, Z) = ~1 and Cow(Z, X) = 1 respectively. Find

Cov(U, V) where U = 3X — Y +2Z and V=X — 3Y + Z.

‘Find mean and variance of random variable X whose

probability density function is : o 66
: o< i
I ’ <X <
1) = aﬁ_ + kuv
0, otherwise

©

Section 111

An item is produced in large numbers. The machine is

“known S%_.oacna.m.ww defectives. A quality- control

inspector is examining the items by taking them at random.
What is the probability that at least 4 items are examined
in order to get 2 defectives ?

If the probability is o.qw that an applicant for a driver's

license wiil pass the road test on any given try. What

is the probability that an _muﬁ:owi will finally pass the.

test on the fourth try ?
If two percent of the books bound at a certain bindery
have defective bindings, then use the .m.omwwo:

approximation to the binomial distribution to determine the

probability that five of 400 books bound by this bindery

will have defective bindings. 444

P.TO.
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(@ ) X has the disgrete uniform m_mz._g_so: \.@.& = 1/k, for

B E s , k, then mroi »:2 Boﬁaa generating

Enocou -given 5

Iso find- . M, (0), M. (0)
K —¢) A0
and ,_.«_aa. compute mean and 4»1»5% of _.E&o.:

variable X.

: . - . . >
) Let bosn )=l g -0y and B(x; n, ©) =
. \x

2 ._
M b(k, n, 6). Show that
=0

@ blxm0)=bn- a.:._ 9

Gy bix;n,8) =B n 8~ BE-tn6)

(iid) %E.sum_s-ﬁins-w?-a_-.,..
n,1-6) | _

W) Eu.,a.eu_.imﬁai_.:a,Ts.

1-1)
7 (@ Show that &= :TA a2 _.A— and

o

p= QlET&;E..@ where (0, p) are two

parameters of the beta type-1. distribution and (i, g*) are

the mean and variance of the distribution respectively.

- .

RS 11 %9

¢ w1 3 :

(5) Show that —..m.w.wua\m— e ? dz and hence evaluate
- <0 f

__ A.J _ - _m
SRz N s
(@) The random variables Xi = 1,2, 3, 4) are independently

and identically distributed with probability density

function .f(x) = a\.._.lnam Ja_rﬁh .Q |+ Obtain the

E.ocwc_:Q aoam:w ?:a:os of CHMMM and

i=l

v n‘_x__ 2%, + wxu - ax,

(&) The amount om COsic E&ESE to is_nr a person is

mxvcmam when flving by um.__, across the US is a rafidom
variable having __Sn:u_-&m.ig:os with a mean of 4.35
.units and a standard deviation of 0.59 units. What is the
probability that a person will be exposed .8.. more than
5.53 units of cosmic radiations on m:n& a Ew_:.w .w_m
[Use €3 = 0.00035, e*= 0.01832 and for standard normal
distribution P(}, < Z < 1) = 06628, P(-2 < Z < 2) = 09544
and P(-3 <Z <3)=0.9973]
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(& For the given binary relationships, suggest the : cardifiality

ratio of the relationship based.on the general context of

context clearly : 5

* Entity Type Relationship

() EMPLOYEE Has ~ DEPENDENT 3

ity

- Entity Type

() In the following relational database, poirit out the primaty

.

.and foreign _.n.o«,w.w_._ﬁz:w any assumptions that you

EMPLOYEE (ENumber,

PROJECT (ProjectNeme,

WORKS_ON (ENumber,

Ename, Email, w:o.wwv_
ProjectDescription, ProjectMenager)

ProjectName ?mo_:hﬁ

kS




; . ( 4) (5 ) - 2928
R ‘ ’ . (A Consider the mo:ose..m w&mwo:m_ %Eummu 83»3».” - -]
: (g  Given the mo__o..im.sm relations : mm.cumza \ . : . ‘
| EMPLOYEE . DEESRIBENT Roline |  Name | Department | Marks "
A _ _ |
Eid | Ename | Salary  Dno Dno | - c._.u._.a mH .ZHHM Mmm MM RS (R 0105 < N
1 J Amit 3000 {101 101 | Administration 3 zﬁ,_n:w M & |
~ | 2| sumit | 2000 [102. | | 102| Research B mﬁ.wm R e o [ 4]
ol _ ' et A g 5 | Garima cs 78 . el -
3 | Jaspal| 1000 | 103 103 | Accounts  Write SQL queries  for the following statéments : © o “
& wn.,:wn._ : ﬁhoo | Mmm. | . .. A\“u .:.83 a new student <7, "Priyanka!; 'CS, mmw in the ]
LR | § gan above &.E_ummo R e
= 5 | vikas | 3000 {102 $= - | @ Change the Department of * Ramesh' to ‘M,
What will v« the output of the following queries 2 6 .. Qmo Delete n.n Tecords. where marks are less than 70, ¢
0 .C Ooq_ma@_.na..oum:o: mﬂcomze Amol:z? Name,
() select Dno, Count(*) ; ‘Dept, Marks) . )
gwowmm. T - Write the mo__oﬁam e_o:g into SQL: wons ‘R .
AR, e R ..S Display zua uoﬂ_ ==Ernw of mEmoﬁm 5 omn& ;
group E.ﬁc_uow. 5 - department, . M
(ii) select E. mﬁm&? D. Dname Display mininum, average and maximum marks of : y ﬁ

.. et Ew glass.
22 1 .ﬂ. O ......., e J
m_.oigpowm.m E, - Departmen .U..wEmw Bn A_Sw:m of the mE_,._a:G sromo hame
i__o._am..‘...gowo_.__oso“

(i) select count (Dno)

. . ; ; IEERNLSEAS e il i Y PTO. e
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(@):

C

Tlustrate each of the following with the help of an

ER diagram :

()  One to many relationship,
@iy One to one .R_E_o_..mr.mu. i
Differentiate between the. following
(0 Primary key gﬁ%&%ﬁ@.. | |
[) vrwm_nm... nwnm..._aaevn:noaoo and .Emaﬁ amS.

6 _v

_ Draw ER diagrams *.ow the _.o__oiﬁm cSmQ
mwao_@ at least three attributes for each entity and

R_wnosmrmﬂm.

mention 8&5@_3 ratios also : - 6
Entity Type _ Relationship  Entity Type

() FEMPLOYEE - Works For COMPANY

(i) STUDENT  Enrols I For COURSES

 independence.’ 6
® _Is the relation- w_gou.co_oi __n___ :% 2 If uaw. .Em:?
, otherwise convert it ES INF oo oo o .h ..
‘Do _ Dname . iir " Dio¢ation

1101 | -Administration | {Spring, Houston}
202 | Research; . |stanford .
103 | Accounts Houston
(@) Considerthe universal relatio R =-{A, B, C, D, Ey

¥,

= tym - C,
What is Bownwmx. R ? Decompose _ﬂ,::o 2NF

.m,.

mlv.i

and then INF rélatiofs. e e

H

I,

J} and the set of functional dependencies

_wc¢mm~w_.u.imm,miu,
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’ _N?me of the Paper : Lfnea‘r Algebra | |

Name %)f the Cogrsel ' ¥ - Generic Elective—Mathematics for

Honours
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" Duration:3Hours .~ MaximumMarks:75
~ == (Write your Roll No. on the top immediately on receipt of this question paper.)
Attempt all questions.hy selecting any two parts -

B . from each question.

L (@ Ifxandy are. vectors in R3, then prove that : .

R B Y - ";;J’II lh=b+lyll 6."5_ .
o (b) Let.x and j.be nonzero vectors.in R3. If x .’y < 0, then
prove tlhat : _
Nx=pl>l x|

Is the converse true .7 Ju_stify-. 6Y%

PTO. .
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_(C)

(@

_Suppose L : R"" = RZ'is a linear operator an.d

L1, 1] = [1,.-3] and L(=2, 3]) = [4, 2]. Express
L1, 0]) and L([0, 1]) as linear combinations of the vectors
[1, 0] and [0, 1]. | . 6

- Let L : R® > R? be the linear transformation given

by :

L([x, y, 2]),=~[—_;r '+.3z, x+ (2y -z}
Find the matrix for L.with respect to the bases :
B ={[i, -3, 2], [4, 3, -3], [2, -3, 2]} for R}

and C = {(-2, -1}, [5, 3]} for R2. 6

For the graphic figure. below, use homogeneous '

coordinates to find the new vertices after performing a

- scaling about the point (3, 3) with scale factors of 3 in

the x-direction and 2 in the y-direction. Then sketch the .

final figure that would result from this movement : 4+2%
ya

. (2,5

@n

'.(5) : 2980

by -

Xy 23 5/)[x)

. »- Find a basis for ker(L) and ‘a -basis for range-(L), also
* verify the. dimension theorem. ' 442% -

() Show that a mapping L : Py - P, given by

L(p(x)) = px) + p'(x) is an isomorphisi_n, where P, is the ‘

vector space of all polynomials of degree < 2. 64

(a) Let W be the subspace of' R3 whose vectors lie in the

plane 3x — y + 4z = 0. Let v = [2, 2, -3} € R°. Find

proj . v, and decompose Vv into w; + w,, where
w, € W and wy € wi. is the decomposition -

unique ?




©

of R3 ﬁnd a basns for W and thé' orthogonal comp]ement
Wi, Also werify that :

dim(W) + dim(WL) =" gim(R3 442

satxsfymg the mequahty
IIAv—bII < IIAz bll

' -“.‘F'i"hd- "vég:‘tdr', v _
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P
S.Nu, of Qiestion Paper: © B4

‘Uikigue Puper Code . 12275201 [&
Namie of the Paper - introductory Macroeconanties Eanomics-1
Nane of the Comse | GLE, for (Hons) Econgmics CBCS
Semester: 4 |
Duration : 3 Hours Maximuin Marks : 75
(Write yanr Rolt No, on the top tmmeditely on racaipt of thix question papwr )
Note .—  Answers tiay be written wither tn nglish e i Hindf:
hit the same medinm should be used throughout rthe
e .
feoquit 5% W - W E S ar e R o
H A @ims Wl s @ AeaE uF EOEE
il
All questivirs are o be affempted.
Part A of cach question js compulsory.
w/eT v A
T W T MM A SEEE B
1. Part A Is compulsory. Do sny fwe out of fars B, ©

and ‘D

(A} From the Tollowmg informarion, caloulare GDP, Privats
Disposable Income and Private Savings © 22
Consamption 450

PTO.



{2 23 8114 i i T =7

O {0 Do vauiagree with the statement that CPI inflation

Compensation: of Employees 6300
overstales increases in costs of Hving 7 Cs
Remal income of Persons &N “u_a ving 7 Give
. feasans for vour answer 3
Proprietor’s Income 20 . 7
pr G With the hely of data given Below, ealeulate the
Corparate Profis T rate of inflation for each vear from 2014 o 2017
Ner Interest 400) natdering 2003° a8 base 3
Year .
Indirect Business Taxes S0 5.0
2013 610
Consumption: of fixed capital KL .
204 615
Transfers received from Goyernment 350
2005 650
Irterest Pavmem on  Govermment - Dabi i e .
2016 o5
Birect Taxes [ 019 68
(B) () IF expected rate of inlation is 6% calculate the’ oA FfEE & oam e o WoHE R e @
rezl mie of returp o0 2 1 year Bond of face value Jm A
of Rs 300; availsble for purchase a1 Rs 250, 2 W) et s & g GDP, =R, S
1) How does ghe official settlement balince ensure . : ELGAN 0 Ui
O
that the “Fundamental Balance of Payments AL 4500
Taentity” holds 7 3 PRI Y AT 6300
W . |
{C) How can Nationzl Savings, Private Savings and “m . Sl i)
Rifewm o

Governmen! Savings be caloulated' 7 Whar will heppen L]

if Govermnent Defict ingreases 7 o
. BTG,




(8]

)

I 8113

=5 =9 L
Te = e
e I e L 4]
e G w1 96 ot
WEH T TEERT 0
T BN WA sEE X
Y w5 G

o afe sE-TEifa w1 s g e ® @ s
A THE 300 393 W whnfe =
w54 % fow wferm #om # oo
EaiEud

(i) SAPTRIR YA HH JEE T 6
# wHEW # w8 = S e 7

Tty g, el ava st wEE oawd w5

e Fa w oW & 7 oAk wWER wE 98

R oA T W FE HW uEm 7

= I HiETaE o )
M) (D FUHRRT TH T )

w293 T 09 =44 € 99 3 3H a5
F wpra € 7 3EA I o9 Sifeg Tasd)

$adl

Gy £A14

() 2013 ¥ R 9% o9 3w 49 T
HEHE # e W 204 2017w A
TA-PH W T Im Fifm

o W UEA e

2013 a0
2014 015
2015 650
016 .3
Ty 660

Part A fs compulsory, Do any: feee out of pars B0, D

whd B

(AY {0 Do you ugree with the statement that bond prices

(B

and e of interest are negntively relaed” 7 Give

reasons for your answer, 2

(i) Caleulate real ikerest rate wiven thal e of growth
of real GDP is 7% nominal interest rate s Jdi
and money supply inerimses ar 16% per year.s

Explain the concepl and causes of Hyperinfiation 7

-Suggest palicies that the government can use ta conirol

Hypetintlation, 7

BET.0
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I

(E]

( & 3 Bid

What is High Powered Money 7 To what extént does
High Bowersd Momey affect he Mones Supply in z2n

-zgonomy 7 7

(5 Given the Ouantity Theory of Monsy, assume that
income is 1000 pnits and money supph is- 400
mits. Also assume fhat velocity of circulation of
money & 3. Calculste the agpregate prce level,
What will happen lo the price leve] if money
supply vises to 8G0 units T Fxplain, 4

(4 How are the costs of expected inflation. diffcrent
fiom ihe cous of unexpecied inflution ? 3

() Explain the statement that *finsncing 4 large deficit
with seigniorage ¢ only lead 1o high inflation”. 5

(i With constamt Jevels of velocity, of money and
ODF, the governmen! mises maney. supply by 5%,
Assuming a real rate of interest of 8% calculate

thir nomimal rate-of nlerest

o A SR &) MW OB C DUE ER A Fe oA
R L
Ay (7 = ST IR T 8 FE & R F

5 FEw &9 = = 4 E9ls 99y
E@ 81 M TRE

(B)

()

()

(F)

g ) 8414

(i) AGlEE SNW T w1 MO ®Oew a9
SRS GDP ghe 5 7%, T = T 140
#t g g ofe e whed #

it e e B i e

=G wHifg w1 frifE ew § fon wmw zm

a7 Wi W e ¥ 2 qm qf ) s iR

Hal e w o wafae wwt &7

(VI T e o ol o e B o
for @ oo zf & s 7e1 i a afe
L E I T el R S e
O s B T
A wrd ¥ W wwe oww J fEww i
afa ¢

(A i o A e e B R e e 8
wiifr & wug § few wEw s 7

(h TH wHT W AV Wit #E FEAl
2 F OHEHIS BN W E A m-
G O

) GDP ST =R H WeR G =W R, R
T O A s afe w3 T
= B4 8% ¢, T AT = 5 ® e
i |

P



{ § ) 414 04 7 B4
Part A is compulsory. Do any dves out of parts B, ©. D - (€ () Given that in an economy
and E - C =08 {1-n Y
(Al {7 How doss an increase in autonomous spending = D25
affect the equilibrium level of mcome ? Explain 1= 800 - 50+
dsing 1540 znalyvsis, 3 G = 800
() Whil i5 the relevance of Okun's law 2 2 L = 025y — 6250
), () Supposc that in'.an ecopomy (M/P) = 500
¢ = 100 < 0S¥, (a) Derive the equation for the IS eurve
- ' 3
F o (h) Derive the equation for the LM curve.
B () What are the cquilibriim levels of income and
G =200
the interest rawe 7 i
TR =150 (4) Explain palicy mix, What i s significamee ? Explain
=008 using sultable diagram. 4
{a) Caleulate e squilibriom level of incame and (D) Explain the following using suimble dingrams
mutiplier in this model, (7 Show tht hoth govemment spending and' the. fax

16y Calculote the: budeet: surplus. rate affeot the 1S schedule. 3

- L), How will an inerease i real i i

icy  Whar will be the naw equilibrium income and : ity
.. equilibrium income and equillbrium Interest rate ?

the new miliplier it 4 jncreases 0 023 7 230 ; -

Explain using 15-LM analysis, 3

i = ¢ halanced hudost irfiphier. 3 ] . .
(i) Derive the bala budget multiplier, (i) Io the contest of fiscal policy. what s crowding
(iity Under what circumstsnicss can the LM purve be oul T How does the liquidity trap affect crowding
-horizontal 7 Use suitable diagram 1o sxplain. 2 out 7 4

PTG,
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(E) i Coosider two policy opticns] dne of an jnvesiment -~

subsidy. asd -another of @ rise in income fax rales.
Using the 1S-LM model, diseisss e fmpact of these
policies on income, inferest rales and jnvestment. 5
(i) How 5 the effect of monetary policy differsnt from
the eflfect of a fiscal policy as a tool of
stabilization 7 Explain using sujtable diagram. 5
WM A SFEE Bl Sm B Cop Ve EH ¥ O A
& E AIEY
(A) () T EE OH gl AW H OHGEE W OW
f&5 wwmr =1 %S ETERn § 7 15-LM
ST W g A
0 FET H AW w0 o#=h wEEEe &7
@ () TE weEmEm W OEmovwm ®ofF

C= 100+ 05 Yy

T=70

G =200

TR =150

=020

(@) FF = HgER T W OTUF WA
frrdt & 2 |

O 8414
) wee sfww fEow ¥ 2
(¢) M T T HEEE ¥ AR T T
e A e ¢ e 025§ A B
Gy Hgfer wee g W T s
Uiy TR mftfeafen 5 ov aw Sfis 9 oo g 2
e fas wt wemE @ FEnn
© O wh slemen § fewomw ok fE o
€ =08 () ¥
(= 0,23
| = 900 - 50
G = #H00
L= 0:25Y - 62,5/
(M/P) = 500
(@) I8 Fh H fem W wwo wifEw)
) AR wde R S
f¢) S W Agem 'R W =9 W AT
e & 7
(iy ffa fasor w1 @ & 7 T = wmiTEw

7 wHfEm e %1 wmem § =mmu
BT




¢ B
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Is the family a universal social institution ? Critically discuss.

¥ IfEaR wifaE wf wen 2 ?
s fade =it

fn what ways does a feminist voavoomﬁ um_dom«o the mﬁ.m_.w
as an institution that is inherently unjust to women ?
%&ﬁ%.ﬁ%ﬂﬁ_ag&%ﬂqﬁz
Rl # i R T e ® 2

:os, does m:gn%_u and non- _Bo_om_nm_ parenthood complicate

. notions of marriage as a Hénerosesciual Tinio. ¢
frrar iR R-Sfrw mg-frge faae W SRR
T B e e AR sen ®) e wE TR
= E 7

. .. How do social and nz_z_a_ processes give ann_uw to

processes B¢ maral Fecniitinent e family and :o&o_aa ?
Hlustrate with suitable examples.

frm wE wme ol wephe St e s
W3R ¥ wEhe W w whEEel ® SR 3@
¥ ) Tgm WO $ WR W s @ =
Fifsu ._

.

¢ 3) L um

Daes belonging to a family preclude other kinds of socialities ?

~ Critically discuss,

ﬁqﬁzﬁ@ﬁ@ﬂﬁﬂgﬁﬁﬁﬁﬁ_&
= iy = 2@ ¢ ? oeEaes fadem st

* Discuss the symbolic meanings of marriage in a Bengali

society.

FTeh T @ frw @ e adl @
T8 |

Analyse .rci the family has been nrm...,mwzm globally in the
B sentie &

e wd § wfer fFe we W@ W oE, T
forvdmm =i _
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(ifi) folk music in Ritusamhara
wgHerR & sy

(iv) Gitagovinda and Odissi dance
AR ad SR T

(v) Vaidika Civilization
IfRees T

(vi) Ramayanamafijari /‘
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8. Write short notes on any two of the following :

frr=faRea & 9 g & ux dftrg feuaof felRaw -

(a) The Salt Satyagraha

(b) The Cabinet Mission
Heme faee

(c) The Congress Socialist Party
HAT AR &

(d) The Two-Nation Theory
fE-usim R

3,000
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2
(a) Match the following :

i. MS Swaminathan
ii. Uranium

iii. Methyl Iso Cyanate

iv. DDT

v. Stratosphere

vi. Lichens

vii. Congress Grass

viii. Sunderbans

x. Medha Patkar

(b) Define the following (any five)
(i) Critically endangered species

(ii) Hazardous waste

(10x1=10)

i. Insecticide
ii. Bhopal gas disaster
fii. Primary successioh

iv. Narmada Bachao
Andolan

v. Wetland conservation

vi. Green Revolution in

o 132 3

(iif) Greenhouse gases
'(iv)4 Biological Oxygen Demand
(v) Acid Rain
(vi) Riyer water’conflict
(vii) Ecc;logical balance
(%) ﬁmﬁ‘iﬁaa ® Fre -
(i) v Q. iR (i) Hemw

India (i) qva (ii) Vit P —
vii. Ozone layer (iii) R @@ wgAe  (iii) sfie aRfafies
’ 1 fuel -
viii. Nuclear energy fue
' (iv) & (iv) =1 s e

ix. RAMSAR convention ix. Irivasive species

x. Mangrove Forest

) )
(v) RRmr /e wieet (v) = o weao/ suévft
(vi) wrgeh () (vi) e ¥ R wify

xi. Tundra ecosystem (vii) o = (vii) 3 T
(viii) e o (vil) ey Sl e
5x1=5
( ) (ix) TR AT (ix) faedh HFAF gt

(x) 3 R (x) i =
(xi) gg1 aRRuf o

P.T.O.
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(i) ol TRadT @R AW W R
(iii) I AT W AR TR AN aRE
(iv) #eEE @R @e
(v) gt @ e o b

(iv) S siliow wm |
Write short notes on following (any three)

(v) ol @t (3%x5=15)
o _ (i) Harmful impacts of mining on the environment
(vi) =& va faare

and human communities.

(vii) wRRufe=Rl e

(i) Role of National Green Tribunal towards
environment protection in India. '

2. Differentiate between the following (any three)

- _ (iii) Merits and demerits of investing in nuclear
(3x5=15) :

(i) Pet 1 | d Bi -electricity progluqtion,
1 etrolcum an 10gas
(ii) Climate/Change and Ozone Layer Depletion (iv) Incrgasmg water crisis in megacities.

(iii) In-situ Conservation and Ex-situ Conservation (v) Disaster management steps during and post-

earthquakes.

(iv) Pesticide and Compost

ot @ ag Acg (B § @)

(i) i @R AT eEE W ' B SNERE
T

(v) Soil Erosion and Eutrophication

P @ @7 aw R (B R )
(i) W ke Ja A

P.T.O.
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8

With appropriate examples, discuss the contribution
of women in protecting the environment.and raising

environmental awareness in India. : (15

YRA ¥ TaiaRuia GO Ud Tt SRTeshdl 93 A Afeena

F AR W IIGF JTEOH & A gAY

(36000)
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